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Sample statistics

Mass conserved = 1
Median(obs/new) = 1.73/1.75
1%(obs/new) = 1.07 / 1.04
5%(obs/new) = 1.16/1.14
25%(obs/new) = 1.41/1.47
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Sample statistics

Mass conserved = 1
Median(obs/new) = 1.83/1.91
1%(obs/new) = 1.08/1.04
5%(obs/new) = 1.19/1.14
25%(obs/new) = 1.47 / 1.47
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Sample 15cm Sample 15cm cumulative

Sample statistics

Mass conserved = 1
Median(obs/new) = 2.05 / 2.08
1%(obs/new) = 1.08/1.04
5%(obs/new) = 1.19/1.24
25%(obs/new) = 1.57 /1.61
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Sample 25cm Sample 25cm cumulative

Sample statistics

Mass conserved = 1
Median(obs/new) = 1.88 / 1.91
1%(obs/new) = 1.08/1.04
5%(obs/new) = 1.19/1.14
25%(obs/new) = 1.49/1.47
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